

Kamla Nehru Institute Of Management & Technology Centre

Sultanpur (U.P.) - 228118

e-mail:knimba@rediffmail.com website; www.knmt.info

Mob: 9415042420 Ph: 05362-253243 Fax: 05362-240471

Ref. KNIMT/101/ BEL. Ed/BTE/ Aft. 12010-11 Date 28-9-2010

To,

The Regional Director,

National Council for Teacher Education (NCTE) Northern Regional Committee

A-46, Shanti Path, Tilak Nagar,

Jaipur – 302 004

MRCAPF-987

Sub.: Permission for approval of D.El.Ed. (B.T.C.) Course for the session 2011-12 under Self-Finance Scheme.

Sir,

This is to draw your kind attention that the prescribed proforma of NCTE for D.El.Ed. (B.T.C.) has been completely filled and submitted online on your website and the hard copy of it alongwith required deposit certificate is being submitting person in your office. Furthermore, the Institute has deposited prescribed fee Rs. 40,050/- deposited at ICICI Bank and Endowment Fund Rs. 5,00,000/- vide F.D.R. No. TFQ-111111 PNB, KNIT, Sultanpur and Reserve Fund Rs. 3,25,083/- vide F.D.R. No. 110481, 110482, 528735 PNB, KNIT, Sultanpur & B.O.B., Civil Lines, Sultanpur (U.P.)

The Institute has all infrastructures to start this course with in intake of 50 students.

I, therefore, requested you Sir to kindly consider and give Approval/Permission to start D.El.Ed. (B.T.C.) Course from the academic session 2011-12 under Self-Finance Scheme.

Thanking you,

NRC-NOTE Jaipur

BYHAND

S. No. :

Pages:

Diary No. 7 1966

Date:

Sincerely yours

Kamla Nehru Institute of Management & Technology

Sultanpur (U.P.)



A Statutory Body Of The Government Of India

DATE OF SUBMISSION: 9/28/2010 2:46:26 PM

APPLICATION ID: NRCAPP987

Mode of Payment: Payorder

Demand Draft Number: 670850

Demand Draft Date: 27/09/2010

Demand Draft Bank: PUNJAB NATIONAL

BANK, KNIT, SULTANPUR

Website: www.ncte-india.org

Particulars of the Authorized applicant

Name of the Applicant : Vinod Singh

Designation : Manager

Address : Kamla Nehru Krishi Vigyan Kendra

Post-KNI

Dist-Sultanpur U.P.

228118

E-mail Address : knmtsln@gmail.com

Telephone No (Office) : 05362-241733

Telephone No (Resi) : 241733

Mobile No : 9452647001

Name of the Applicant/Organization/Socity/Trust : Kamla Nehru Institute of Management and

Technology

Postal Address of the Applicant

Plot Number : 183 Street/Road : Faizabad-Allahabad

Road

Village/Town/city : Faridipur Post Office : KNI

Tehsil/Taluka : Jaisinghpur Town/City : Sultanpur

State : UP District : Sultanpur (UP)

Pin Code : 228118 STD Code : 05362

Telehpone No : 241733 Fax No. : 241733

E-mail ID : knmtsln@gmail.com Website Address : www.knimt.org.in

Permanent Account Number of Society/Trust/body : AAAAK7664F



A Statutory Body Of The Government Of India

Details of Programmes other than Teahcer Education

Details of Programmes other than Teahers Education If any, run by the same Applicant /

Organization / Society / Trust

Name of the Institution	Name of the Programme	Level of the	Duration of the	Year of starting the	Name of the Affiliating	Date of Affiliation
	T Togramme		Programme	Programme	Board/Univer.	



A Statutory Body Of The Government Of India

Particulars of Application Institution

Institution Information

Name of the Institution

: KAMLA NEHRU INSTITUTE OF MANAGEMENT AND

TECHNOLOGY SULTANPUR

Course Applied for

: D.El.Ed

Nature of Application

: New Recognition

Mode of Course

: Face

Complete Postal Address[As mention in the Affidavit]

Land Identification (Plot/Khasara No.)

183

Land Title

: OWNER

Plot Number

: 183

Street Number

: NH96

Village

: FARIDIPUR

Post Office

: KNI

Tehsil/Taluka

: JAISINGHPUR

Town/City

: SULTANPUR

State

: UP

District

: Sultanpur (UP)

Pin Code

: 228118

Telehpone No

: 05362241733

Fax No.

: 241733

E-mail ID

: knimtsln@yahoo.com

Website Address

: www.knimt.org.in

Institute is for

: Coed

Institute is a Minority Institution

: No

Type of Management

: Private

Please attach supporting documents. In case of institutions financed by Central Govt./State Govt./UT Admn. to the extent of not less than 50% of their recurring cost, a certificate to this effect from the Government concerned.)

Affiliating Body / University

Name

: SCERT

Address

: State Council of Educational Research and Training,

Uttar Pradesh JBTC Campus,

Nishatganj,

Lucknow - 226007

Telephone Nos.

: 0522-2780385



A Statutory Body Of The Government Of India

Details of Existing Teacher Education Programmes/Courses

Details of Existing Teacher Education Programmes/Courses run by the same applicant

Society/Trust/Organisation

Society/Trust/O	ryanisation			1	r		
Name of the Institution	Name of the Programme	Date of Commenceme nt of the Programme	Existing approve d intake	Recognit ion Order Number	Recognition Order Date		Date of Affiliatio n
KAMLA NEHRU INSTITUTE OF MANAGEMEN T AND TECHNOLOG Y SULTANPUR	B.P.ED.	17/12/2004	50	NRC/NC TE/F- 3/UP- 1059/20 04/1175 9	12/22/2004	DR R M L AWADH UNIVER SITY FAIZAB AD	09/26/20 05
KAMLA NEHRU INSTITUTE OF MANAGEMEN T AND TECHNOLOG Y SULTANPUR	B.ED.	15/09/2004	100	NRC/NC TE/F- 3/UP- 1060/20 04/8462	09/22/2004	DR R M L AWADH UNIVER SITY FAIZAB AD	10/26/20 04



National Council For Teacher Education A Statutory Body Of The Government Of India

Details of already Submitted Application(s)

Details of the Application(s) for Teacher Education Programmes(s) already submitted by the

same Applicant/Organization/Society/Trust which is/are pending for final decision

Name of the	Date of	Applicati	Name of	Academic	Proposed	Regional	Status
Institution	Application	on ID	the	session for	intake	Committe to	
			Program	which		whom	
			me	applied		applied	

applied



National Council For Teacher Education

A Statutory Body Of The Government Of India

Details of already Submitted Application(s)

Details of the Application(s) for Teacher Education Programmes(s) already submitted by the same Applicant/Organization/Society/Trust which is/are pending for final decision

me

Name of the Institution Date of Applicati on ID Application Status

Application On ID The Program Which Proposed Whom Status

Application On ID The Program Which Proposed Whom Status

applied





A Statutory Body Of The Government Of India

Particulars of Funds

Details of the Endowment fund (self-financed institutions/programmes) (Please see Clause 10 (1) of the NCTE (Recognition Norms and Procedure) Regulations, 2007 published on 10.12.2007)

Particulars of the Endowment fund (to be filled in the case of self-financed institutions/ programmes)

Amount of Endowment Fund

: 500000

Fixed Deposit Receipt Number

: TFQ-111111

Duration of the FDR (Minimum five years)

Date of issue

: 9/27/2010 12:00:00 AM

Name of the Nationalized Bank

: PUNJAB NATIONAL BANK

Full address

Phone numbers

: KNIT, SULTANPUR-228118

: 05362-240696

FDR enclosed in original

: Yes

Particulars of the Reserve Fund (to be filled in the case of self-financed institutions/ programmes)

Amount of Reserve Fund

: 325083

Fixed Deposit Receipt Number

: 110481, 110482, 528735

Duration of the FDR (Minimum five years)

: 05

Date of issue

: 5/28/2007 12:00:00 AM

Vame of the Nationalized Bank

: PNB BOB

Full address

: PNB KNIT SULTANPUR U.P.

BANK OF BARODA CIVIL LINES SULTANPUR

Phone numbers

: 05362-240696-225533

FDR enclosed in original

: Yes



A Statutory Body Of The Government Of India

Details of Infrastructural Facilities available for proposed programme/course

Area of the land in possession (in sq. mts.)

: 25293

Built up area earmarked for the course (in sq.

: 3329.55

Whether the building constructed / proposed to

be constructed on the same land.

Building

Please refer to Clause 8 of NCTE (Recognition Norms and Procedure) Regulations, 2007

Date of completion of construction of the

: 12/04/2010

building.

Name of the competent authority for approval of : GRAM PRADHAN

building plan and issue of completion certificate

Address of the competent authority for approval : GRAM TIYARI MACHHRAULI

of building plan and issue of completion

KUREBHAR, SULTANPUR

certificate

Whether Bldg. is disabled -friendly as per the

: No

Total Built up Area (in sq. meter)

: 3329.55

Total Built up Area (in sq.ft.)

: 35826

Specification of Rooms and other infrastructural facilities

Description	Room No.	length in meter	Breadth in meter	Carpet area in sq.
Class Room	6	7.57	9.09	412.87
Class Room	2	9.09	13.33	242.33
Multipurpose Hall	1	7.57	27.73	209.92
Multipurpose Room	1	9.09	14.21	129.17
Seminar room / Tutorial room	1	12.12	9.09	110.17



1.9				
Library		12.12	9.09	110.17
Principal Room	1	7.57	10.61	80.32
Administrative Office	1	7.57	9.09	68.81
Store Room	2	4.55	4.45	40.50
Sports Store Room	1	6.06	3.80	23.03
Girls Common Room	2	9.09	4.55	82.72
Boys Common Room	2	9.09	4.55	82.72
Art & Crafts Room	1	9.09	13.33	121.17
Music Room	1	12.12	9.09	110.17
Socially Useful Productive Work (SUPW) Room	1	7.57	9.09	68.81
Science Lab1	1	9.09	13.33	121.17
Science Lab2	1	12.12	9.09	110.17
Psychology Lab	1.	12.12	9.09	110.17
Educational Technology (ET) / CT Lab	1	7.57	9.09	68.81
oilets (Male)	02	4.54	2.42	21.97
oilets (Female)	02	4.54	2.42	21.97



A Statutory Body Of The Government Of India

Details of Instructional Resources

Library

Total number of Titles : 263

Total number of Books : 3294

Journals : 10

Computer Laboratory

No. of Computers : 60

Internet Access : Yes

LAN : Yes

Academic Staff (Applicable for existing institutions)

Details of Academic Posts available at present

Name of the Post	Number of Post	Pay Scale	No.of Filled Posts	No. of Vacant Posts
PRINCIPAL	1	Rs. 25000.00	1	0
LECTURER	13	Rs. 15000.00	13	0

Technical Support Staff

Name of the Post	Number of Post	Pay Scale	No.of Filled Posts	No. of Vacant
LAB ASSIST	5	Rs. 5000.00	5	0
LAB ATTEND	5	Rs. 4000.00	5	0
GROUND MAN	2	Rs. 3000.00	2	0

Administrative Staff

Details of Non-Academic Staff available at present

Name of the Post	Number of Post	Pay Scale	No.of Filled Posts	No. of Vacant Posts
PEON	3	Rs. 3000.00	3	0
LIBRARIAN	1	Rs. 7000.00	1	0

SWEEPER	2	Rs. 3000,00	2 *	0
SECUR MAN	2	Rs. 3000.00	2	0
os	1	Rs. 8000.00	1	0
ACCOUNTANT	1	Rs. 8000.00	1	0



National Council For Teacher Education A Statutory Body Of The Government Of India

Arrangement for Games and Sports

Number of Playgrounds	length in meter	Breadth in meter	Carpet area in sq
			meter
1	29.00	16.00	264.00
1	28.00	15.00	420.00
1	90.69	54.69	4959.84
1	100.00	64.00	6400.00
1	18.00	09.00	162.00
1	40.00	20.00	800.00
1	13.40	6.10	81.74
1	12.50	10.00	125.00

Website: www.ncte-india.org